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A car accelerates from rest at a constant rate « for some time after which it decelerates at a
constant rate 3 to come to rest. If the total time elapsed is t seconds, the total distance
travelled is :
Options :

.20:[:‘: 2

t

8643517201, (@ 1 B)

o B ¢2
(e A
8643517202, 2@ T B)
dap 2
(o + B)

8643517293

o B 2

8643517204, + (@ T B)

Question Number : 1 Question Id : 8643512431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
w5 512 (R Guldizl 2@ 82 o dl Al X 8. AURCIE dedl o H{ud e 20 g2 B oAUl vl
Nl 28 Bzebaldul 208 . o Wiz 246l 58 H4 b Hss @ dl sUHd 58 2R

S3l.
Options :

. 2ap tz
8643517291, (a + B)

. o B

2
t
8643517292, 2@ + B)
4 B 2
8643517293, (@ B)
«B .

8643517204, * (0t B)

Question Number : 2 Question Id : 8643512432 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A modern grand - prix racing car of mass m is travelling on a flat track in a circular arc of
radius R with a speed v. If the coefficient of static friction between the tyres and the track is
i, then the magnitude of negative lift F; acting downwards on the car is : (Assume forces on

the four tyres are identical and g=acceleration due to gravity)

&

Options :

8643517295.

I'I'I.(E-
8643517296.
v
m|———§g W
\ s R 4

[ Uz W
m E-T_ f
IJ-'S R A

8643517298. b

8643517297.

Question Number : 2 Question Id : 8643512432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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215 m £0L Al 2 Wns-3lE 2BL SR, R Bt aduuisi que 132t vz o seedl o4l oA 52
9. ol SR 2 22l A2 R Adels p éld dl 51w AR dRg dridl el Govas (Lift) F o 1

€l (UERY 1M YR dlRld Ao ML ARL 2 g = A3eeidl)

Options :

m[
8643517295.

IJE W
3
Mg R

I‘ﬂ[k
8643517296.
I?E W
&
Mg R A

m[
8643517297. i

i)
m| g + = W
i
8643517298. \ g

Question Number : 3 Question Id : 8643512433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Carnot’s engine working between 400 K and 800 K has a work output of 1200 | per cycle.
The amount of heat energy supplied to the engine from the source in each cycle is :

Options :

8643517299. <l

8643517300, 1600 ]
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2
8643517301. 3200 ]

8643517302. 1500 )

Question Number : 3 Question Id : 8643512433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
400 K =i 800 K o422 5143 25 sl 24l 1200 ] Ul 25 (cycle) 2uB2yz =1l 6. 2>l gl &2

-

gl UL g2 @il Yl wsidl G Gled 8.
Options :

2.

8643517299, 2100 ]

8643517300, 1600 ]

2
8643517301. 3200 ]

8643517302, 1800 ]

Question Number : 4 Question Id : 8643512434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A solenoid of 1000 turns per metre has a core with relative permeability 500. Insulated
windings of the solenoid carry an electric current of 5 A. The magnetic flux density produced

by the solenoid is : (permeability of free space =47 x10~7 H/m)

Options :
4

8643517303, 10 ™ T

3
8643517304, 2% 10 "= T

oy

8643517305,
8643517306,

Question Number : 4 Question Id : 8643512434 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1000 =izl aziedl »is HaAsdl 2164 500 szzell Ats WarHdl (AL g24) Al oddl 8. Hd-ldsHl
2L 534l (Insulated) 2i2riell wur udl [EBegauans 5 A 8. HAASS gRL Gru~t 2eisly 5454 bl
5. (Yot sl WRABHAL= 47 x 107 H/m)

Options :
4
8643517303, 10 ™ T
3

8643517304, 2% 10 "= T

Sl
8643517305, °

o T
8643517306,

Question Number : 5 Question Id : 8643512435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A current of 10 A exists in a wire of crosssectional area of 5 mm? with a drift velocity of

2% 1073 ms~ 1. The number of free electrons in each cubic meter of the wire is
Options :

.
8643517307, 2> 107

23
8643517308, 1 <10

3 25
8643517309, 625 % 10

25
8643517310, 2% 10

Question Number : 5 Question Id : 8643512435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
5 mm? 2UE BA501 dAAAl 24 2 x 1073 ms 1 Al [352-doL diddl izl 10 A AL Helle 8. dizel
£3s usallennl 2 Yoo daszieuddl v gl

Options :
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3
8643517307, 2* 10

23
8643517308, 1 <10

: 25
8643517309, 625 %10

25
8643517310, 2% 10

Question Number : 6 Question Id : 8643512436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A mass M hangs on a massless rod of length [ which rotates at a constant angular frequency.
The mass M moves with steady speed in a circular path of constant radius. Assume that the
system is in steady circular motion with constant angular velocity w. The angular momentum
of M about point A is L , which lies in the positive z direction and the angular momentum of

M about point B is LB' The correct statement for this system is :

Options :

L A and LB are both constant in magnitude and direchion
8643517311.

8643517312. L, is constant, both in magnitude and direction

LE is constant, both in magnitude and direction
8643517313.

Ly is constant in direction with varying magnitude
8643517314. ;
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Question Number : 6 Question Id : 8643512436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2s M g0 ] detdei £nlea wlde, 3 o 210 selly 2ugld el yhemel 52 8, W dzsida 8. 2iq 4Rl

-

5 oot 2L 20 51904 Lo WL R aquusiz w2 vz ldul 8. M A [ A 2w slell orud Ly 5

-

of 8l z (Bl 2l M A [l B 201 sell i Ly . 24 odst e w2 Hed 8.

Options :
L, 2 Ly vid 4ed 21 [Bausi 2o 8.
8643517311,

» Iz v 2 "-.
864351731, LA 1 HEH 2zl 2 &

8643517313, LB 1 4 [E2uell 21m .

8643517314, Ln EUML 2R i cgecl Heud ©.

Question Number : 7 Question Id : 8643512437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An AC current is given by =1 , Sint I2 coswt. A hot wire ammeter will give a reading :
Options :
L+ 1,

8643517315. V2
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8643517316.

8643517317. \,

8643517318. \I

Question Number : 7 Question Id : 8643512437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AC Mg I=1, sinwt + 1L, cosot &l g2l 8. 245 IRH-A2 (hot wire) »x¥le?

widis 2L

Options :
L+ 1,

8643517315, 2

8643517316.

8643517317.

8643517318. \I

Question Number : 8 Question Id : 8643512438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A polyatomic ideal gas has 24 vibrational modes. What is the value of v ?

Options :

8643517319, 10-3

8643517320, 130
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8643517321, 1-03

8643517322, 137

Question Number : 8 Question Id : 8643512438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
25 ULl 2l ey 24 Blad ol uepa .y o Yo s2d ¢l )
Options :

8643517319, 10:3

8643517320, 130

8643517321, 1-03

8643517322, 137

Question Number : 9 Question Id : 8643512439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
When two soap bubbles of radii a and b (b > a) coalesce, the radius of curvature of common

surface is :
Options :

ab
b—a

8643517323.

ab
at+bh

8643517324.

.b a
ab

8643517325.

.alb
ab

8643517326.

Question Number : 9 Question Id : 8643512439 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

a @1 b (b> a) Blsell daiddl 1AL A yzderil SR A 8, ol dill A Yool sl Bsed
23l
Options :
ab
b—a

8643517323.

8643517324.

8643517325.

8643517326.

Question Number : 10 Question Id : 8643512440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A triangular plate is shown. A force F = 4.1"' ”.; is applied at point P. The torque at point

P with respect to point ‘O" and Q" are :

Ya

> X
Options :
8643517327, — 15 — 2043, 15— 203
8643517328, 15 + 2043, 15 — 203
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8643517320, 15 — 2043, 15 + 2043

2643517330, —15 T 2033, 15 + 2043

Question Number : 10 Question Id : 8643512440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

M

s BAUsR AGR celRa B, Big P o F — 47 - 3 eoucani d 8. Big P s Big O

-

2 QA IUEL 215 sl

YJL

VA
Q’n§ \

Jﬂ(.‘
/ %\
60" 60° .
O Q * N
——10 cn——
Options :
s6435173y7. — 15 —20v3, 15— 2043
8643517328, 15 + 2043, 15 — 203

8643517320, 15 — 20v/3, 15 + 203

8643517330, —13 + 2043, 15+ 203

Question Number : 11 Question Id : 8643512441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical metal wires of thermal conductivities K | and K?_ respecfivel}-' are connected in

series. The effective thermal conductivity of the combination is :

Options :

12/88
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Kq Ko

Ky + Ks
8643517331.

TRy Kg

Ky + Ky
8643517332.

Ky + Ky

e
8643517333. o £

Ky + Ky

Ky K

8643517334. L

Question Number : 11 Question Id : 8643512441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
st K 2 K, ovedl Gl ctgsdl riadl o 2isudi g izl Siellul sdsardl 2uean .

drflogAl 25135 (2u) Gy dugsal 8.
Options :
K1 Ko
Ky + Ko
8643517331.
TRy Kg
Ky + Ko
8643517332.
Kq + K»
"-}f ra
8643517333, 152
Ky + Ky
K1 Ka
8643517334.

Question Number : 12 Question Id : 8643512442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A boy is rolling a 0.5 kg ball on the frictionless floor with the speed of 20 ms~1. The ball gets

deflected ’m, an obstacle on the way. After deflection it moves with 5% of its initial kinetic

energy. What is the speed of the ball now ?
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Options :

8643517335, 1.00 ms !

rd 1
8643517336, T4/ ms

1
8643517337, 1441 ms

1
8643517338, 19.0 ms

Question Number : 12 Question Id : 8643512442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

25 5153 0.5 kg AL 251 1RR[Ed 22l By 20 ms— 1 szl 2ozl 52d 8. Ralul UL 526
ofld Uslxet (S2) 2 . 2L At 2L g o cedl Wi AUableddl 5% s/edl Glsd2l 21ld 52 5. »icdR
ofidrl 264 Sedl ¢l 7

Options :

8643517335, 1.00 ms™ !

rd 1
8643517336, 147 ms

1
8643517337, 1441 ms

1
8643517338, 19-0 ms

Question Number : 13 Question Id : 8643512443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The thickness at the centre of a plano convex lens is 3 mm and the diameter is 6 cm.  If the
speed of light in the material of the lens is 2108 ms ~!. The focal length of the lens is

Options :

8643517339, 20 €m

8643517340, 15 cm

8643517341, 12 cm
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8643517342, 0-30 cm

Question Number : 13 Question Id : 8643512443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wis wHddl-ol€aln (plano convex) Al Srg 2L sASlS 3 mm 24 H 6 cm 5. od Al
god il WSl 24 2108 ms— 1 € ol ool Fegedond Al Assdn wil

Options :

8643517339, 20 €m

8643517340, 15 cm

8643517341, 12 cm

8643517342, 0-30 cm

Question Number : 14 Question Id : 8643512444 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which level of the single ionized carbon has the same energy as the gmund state energy of

hydrogen atom ?
Options :
8643517343.

8643517344.

8643517345, ©

8643517346.

Question Number : 14 Question Id : 8643512444 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
25 -2Ulgd s1eiAL 4L (Glod) 2ozl Glod €glova wraepl wulbld Glod s/edl €l
Options :
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8643517343.

8643517344.

8643517345, ©

8643517346.

Question Number : 15 Question Id : 8643512445 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two ideal polyatomic gases at temperatures T 1 and T?_ are mixed so that there is no loss of
energy. If F; and F,, m; and m,, n; and n, be the degrees of freedom, masses, number of

molecules of the first and second gas respectively, the temperature of mixture of these two

gases 1S :
Options :
: n lFl Tl { nEFETZ
8643517347, L B
.I'I IF1T1 | 1"I2F2T2
8643517348, B+ 5
: n ].Fl Tl f I'IzeTz
I'IIFI | I'Ize
8643517349.
.I'I lTl { I'IzTZ
ny + ns
8643517350.

Question Number : 15 Question Id : 8643512445 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T, @ T, civdird 2éel of 2ugel ot wemieedl a2l dd sou s2eumi 209 & 5 o/l Glod e 2y
AL et Fy 2 F,y my 2 my, 0y 2 ny MM A (A ay e 2538 Ysdairl 242l sl 2

2Rl vl S dl 2 A Al BEed and . @l
Options :

16/88
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nq Fl Tl F n 2F2T2
I f N2

8643517347.

: In 1F1T1 { I'IzeTz

8643517348 F+5

I11F1T1 f I'IzeTz
I'IIFI { I'Ize

8643517349.

anl { I'i;';_TZ

|
8643517350, 1 ' M2

Question Number : 16 Question Id : 8643512446 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For what value of displacement the kinetic energy and potential energy of a simple harmonic

nscillation become unal ?

Options :
8643517351, ¥ T A
8643517352, ¥ =0
dena. + ‘%
.’1 I _II';
8643517353, V2
.|"1|L
g L
-
8643517354 =

Question Number : 16 Question Id : 8643512446 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L 2l BldA M2 22AALARAL 54 Y W2 UAGled 2 R2alA Glad A 23l 7
Options :
8643517351, X T4

8643517352, ¥~ 0
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— — ‘.%
BT
8643517353. N
r"'L
X= —
X

8643517354.

Question Number : 17 Question Id : 8643512447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The output of the given combination gales represents :

A

B

Options :
8643517355, AND Gate

8643517356, VOR Gate

8643517357, VAND Gate

8643517358, NOR Gate

Question Number : 17 Question Id : 8643512447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"=,

MY e el 2uB2ye galld .

A

B

Options :

8643517355, AND 312

18/88
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8643517356, NOR 212

8643517357, NAND 2l

8643517358, XOR 2k

Question Number : 18 Question Id : 8643512448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An electron of mass m and a photon have same energy E. The ratio of wavelength of electron

to that of photon is : (c being the velocity of light)

(Z)°
\ 2m }

c (2mE ]'1'5

Options :

8643517359.

8643517360.

8643517361.

8643517362.

Question Number : 18 Question Id : 8643512448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
m £ 831Gl S5l 2 Sl WA Glod E 6. daszid 21 Wizl aZaidendl 2elinz
9. (c @« usia- 91 8)

Options :
{ E '!_._.-,:I
=
8643517359, M/
1/
- (2mE)"2
8643517360, © 2
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1 (2m V%
< (F)

8643517361.

]

1(E Y
= b=

8643517362. et

Question Number : 19 Question Id : 8643512449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The vernier scale used for measurement has a positive zero error of 0.2 mm. If while taking
a measurement it was noted that ‘0" on the vernier scale lies between 8.5 cm and 8.6 cm,

vernier coincidence is 6, then the correct value of measurement is cm.

(least count=0.01 cm)
Options :

8643517363, 5-28 cm

8643517364, 526 cm

8643517365, 50% cm

8643517366, 500 cm

Question Number : 19 Question Id : 8643512449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Huell 1 svaidl a4 254 4 0.2 mm seedl a3l . Ay wvell s g Alasui 20y 5
eAlrd42 254 YAl 0 24 8.5 cm 24 8.6 om Al 922 2094 9 i dlA43AL 6 Hi 514l AR 1943 Gl AL 20
. dl WA w2 e cm €2l (o™ 1Y 2WsA=0.01 cm)

Options :

8643517363, 5-08 cm

8643517364, 8:96 cm
854 cm

8643517365.
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8643517366.

Question Number : 20 Question Id : 8643512450 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

8.36 cm

If an electron is moving in the nth orbit of the hydrogen atom, then its velocity (v,) for the nth

orbit is given as :

Options :

8643517367.

8643517368.

8643517369.

8643517370.

Question Number : 20 Question Id : 8643512450 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ot Szl sdglord RISl nl sl a9l sl € dl n-Hl S L L (o)

UL EIETON
Options :

8643517367.

8643517368.

8643517369.

8643517370.

)
III

n

XS
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Physics Section B

Section Id : 864351164
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351164
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643512451 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

s . 3 " & &
For VHF signal broadcasting, km~ of maximum service area will be covered by

an antenna tower of height 30 m, if the receiving antenna is placed at ground. Let radius of
the earth be 6400 km. (Round off to the Nearest Integer) (Take w as 3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643512451 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

VHF [l ua1zeiHl, sd A8l (receiving) @ieeldid sl we 2issi 209, dl 30 m Glaud arisdl
AL 2l SREL_ km? s2dl ¢ service [Haclz wusEl wsiy 8. yedldl Gse
6400 km HRL (%95 YollsHl @uil) (w=3.14 dl )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512452 Question Type : SA

22/88
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Correct Marks : 4 Wrong Marks : 0

If 2.5x 10 N average force is exerted by a light wave on a non - reflecting surface of 30 cm?
area during 40 minutes of time span, the energy flux of light just before it falls on the surface
is W/cm? (Round off to the Nearest Integer)

(Assume complete absorption and normal incidence conditions are there)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512452 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

215 UslL 2L gL 30 cm? ered &5l HAdl @is puRieds WUl vz 40 Biedledl Werunsi wadd
MR o 2531076 N &, W2l Guz 2vd AR dAdl YR Yddl MsRL e Gled sasy
W/em? 6. (A%9sdy yelsui auil).

(2yel 2liel 24 dot 2d i 6 dddl Rald asl.)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643512453 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

23/88
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Four identical rectangular plates with length, /=2 cm and breadth, b = — cm are arranged

3 | 3

KTAPey ) . . Xg :
as shown in [ igure. The equwalent capacitance between A and C is Tﬂ' The value of x is

(Round off to the Nearest Integer)

d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
Question Number : 23 Question Id : 8643512453 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
. 'y . - 3 - = r - . -
215l g2llel 2R =2 cm detld 21 b = S om srecdl wglowd el R BisuUA derlizyg

vzl sl 2l 5. A 2 C 92 Wided Hursdl ?{s‘f. x e Y %l (Amwsdy

yeulsHi qull).

Response Type : Numeric

24/88
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643512454 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equivalent resistance of series combination of two resistors is‘s’. When they are connected
in parallel, the equivalent resistance is ‘p’. If s=np, then the minimum value for n is
(Round off to the Nearest Integer)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643512454 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o weRlalAl Sl ddlordl Huged 2w ‘s 8. dud s HHIoRHL sAsAHl U8 B ol Wit
ARIE P’ B, od s=np €4 dl n o Y™ Yo g2l (A% yellsHi quil)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643512455 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A parallel plate capacitor whose capacitance C is 14 pF is charged by a battery to a potential
difference V=12 V between its plates. The charging battery is now disconnected and a
porcelin plate with k=7 is inserted between the plates, then the plate would oscillate back
and forth between the plates with a constant mechanical energy of pl.
(Assume no friction)

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643512455 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

14 pF of2dl delRsdl addl 215 Wuidz Wz 5Ulead eedl gzl d-l vzl a4 V=12V -l R2AwA
sl [yaeiEld senil »ud 5. ¢4 ol §2 sl 2l 9, 2 k=7 quoll waldld wded
sl weidl 9= sred sl e 89, dl pJ eredl 2 4iBs Gled WEl 21 vde, o
vzl 42l P Elan 528l

(endel A2l o ail)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643512456 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The radius in kilometer to which the present radius of earth (R =6400 km) to be compressed
so that the escape velocity is increased 10 times is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643512456 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(gl Ao 10 210l <8l d qie yeelldl ¢l Blsidl (R=6400 km) A setielld  km s2dl
[Blsca s2ell el

Response Type : Numeric

26/88



3/17/2021
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 8643512457 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The angular speed of truck wheel is increased from 900 rpm to 2460 rpm in 26 seconds. The

number of revolutions h}-’ the truck engine ::lurfng this time is

(Assuming the acceleration to be uniform).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643512457 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

25 25l Uslel shelld #5426 Hs64i 900 rpm 2l delZlA 2460 rpm S3AUML 2UA 8. 20 HHHAL g5

&

o[ty dl fdl WEemeldl vl

(MeloL HHI2L S o™ HIRL.)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643512458 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Consider two identical springs each of spring constant k and negligible mass compared to

the mass M as shown. Fig. 1 shows one of them and Fig. 2 shows their series combination.
s

The ratios of time period of oscillation of the two SHM is T,l});l" = Jx, where value of x is

/ d

(Round off to the Nearest Integer)

LELLECEE LA S

00000
00000

=
0000

Fig 1

Fig 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643512458 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Eolleul 2uR k s/edl RIPL 2Rnis ded v Mogoel wvimelldl wieped geriid diadl o
AsHAA RIPU LAl Al 20 1 duidl 21 s2id 8§ i wgf& 2 duef Siell Hidler g2ld 8. 20 A

SHM 91 244 gla-dl 24 el 2usdstasdl :LL,lguna = Jx B; sall x + Y& 8.

(Amsci yellsul qvil)

LTS

00000
00000

=
00000

Fig 1

Fig 2
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643512459 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The following bodies,
(1) aring
(2) adisc
(3) asolid cylinder
(4) asolid sphere,

of same mass ‘m’ and radius ‘R’ are allowed to roll down without slipping simultaneously

from the top of the inclined plane. The body which will reach first at the bottom of the
inclined plane is

[Mark the body as per their respective numbering given in the question]

B '

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643512459 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Wl £ 'm’ 2t Bsedl ‘R” aiedl Al s2iidd sgil

(1) b

(2) dlsa

(3) Gl SR

(4) a2l

A wisHIA andl WHdd (gloud) Al 2wzl desdl B aesEant 2ud 9. alousdl dlad A waw
yeludl daq sal.

[M2Hl BUAA AR Hored dge g2l ]

6 N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643512460 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two blocks (m=0.5 kg and M=4.5 kg) are arranged on a horizontal frictionless table as

shown in [ igure. The coefficient of static fricion between the two blocks is E Then the

maximum horizontal force that can be applied on the larger block so that the blocks move

together is N. (Round off to the Nearest Integer) [Take g as 9.8 ms &
m |
F
Y| —»

P& & T W S T
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643512460 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g2liel Horol o el (m=0.5 kg 21 M=4.5kg) A adeilEa 20eifsilder 2eadl 2uZl Guz slisasusi

AL 8. o AHAR 922 RRAerels - 8. el Aluall 21 e old 52 d w2 el Amed @y

-
£

oo, e wlglder o N g2l (s yeusdl davil) [g=9.8 ms2dl]

]
F

M >

T T A
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351165
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351165
Question Shuffling Allowed : Yes
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Question Number : 31 Question Id : 8643512461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A central atom in a molecule has two lone pairs of electrons and forms three single bonds.

The shape of this molecule is :
Options :

planar triangular
8643517381.

8643517382, 1 -shaped

8643517383, SCCSAW

8643517384, Tigomnal pyramidal

Question Number : 31 Question Id : 8643512461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
D45 ARLAL HEHRY YRHIE] A 2eias1Rs Sl Y94l 2319 O 21l d A6l 2A5d (single) ¢idl vl 8. dl
AL 2ABLAL 241512 2L
Options :
S643517381. U 1 Bstella

8643517382, [-AsR-il

M=) R
8643517383. {4l (see-saw)

8643517384, Prsteil faibLsa

Question Number : 32 Question Id : 8643512462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A colloidal system consisting of a gas dispersed in a solid is called a/an :
Options :

8643517385, acrosol
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8643517386, solidsol

8643517387, [0am

8643517388, 8¢

Question Number : 32 Question Id : 8643512462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ay Ul AU (A5t wrEdl s sladu weudl- o 5¢ 9 7
Options :

8643517385, A

8643517386, A

AL
8643517387. sei(sley

8643517388, ¥4

Question Number : 33 Question Id : 8643512463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The absolute value of the electron gain enthalpy of halogens satisfies :
Options :

8643517389, F>Cl>Br >1

8643517390, 1> F>Br>1

8643517391, <1 > Br>F>1

8643517392, 1~ Br>Cl1>F

Question Number : 33 Question Id : 8643512463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

el gasgia WA 2A-edld Hais et ddd ® o ¢

Options :

8643517389, [ > 1> Br>1

8643517390, C1>F >Br>1

8643517391, <1~ Br>F>1

8643517392, 1> Br>CI>F

Question Number : 34 Question Id : 8643512464 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The point of intersection and sudden increase in the slope, in the diagram given below,

respectively, indicates :

0

—> AG"/kJ mol” of O,

‘l‘] 1

: 2

|

=
B

X

e

il h D

800~ a3
(8
900 a3®’
o, " .zmgﬂ
1000 g, + O
1100F
1200
| | | | | | L
0= 400°C B00°C 12007C
273K 673K 1073 K 1473 K

—— Temperature
Options :

8643517393.

AG <0 and decomposition of the metal oxide
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AG > s :
8643517394, AG > 0 and decomposition of the metal oxide

8643517395, AG=0 and meltmg or bc-ﬂmg point of the metal oxide

8643517396, AG =0 and reduction of the metal oxide

Question Number : 34 Question Id : 8643512464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[t Sl SEA01F 2 AL 12UAS FEIRL 2U4sH 3] YD O )

——> AG"/kJ mol™ of O,

12001
' I ' l I I I | | I
o°C 400°C 800°C 1200°C  1600°C  2000°C
273K 673K 1073 K 1473K 1873 K 2973 K
—» Al4HIA
Options :
2643517393, AG <0 i g s [Baed
} '\ = : -
s643517304. AG >0 2t aug 2Asu18 5 [Aeie
i i ™ = L 5
2643517305, AG =0 i aig 2Bl At 21U Gesan (g

AG =0 21 alg sl Resuq
8643517396.
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Question Number : 35 Question Id : 8643512465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The INCORRECT statement(s) about heavy water is (are)
(A) wused as a moderator in nuclear reactor

(B) obtained as a by-product in fertilizer industry

(C) wused for the study of reaction mechanism

(D) has a higher dielectric constant than water

Choose the correct answer from the options given below :
Options :
8643517397, (&) Oy

8643517398, (B) only

8643517399, (D) only

8643517400. {B] and {D] mﬂ}r

Question Number : 35 Question Id : 8643512465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
oz Wil dseiul ey [[Qan-( L) 2l
(A)  Segld ezl [93es (moderator) dls-l Gyt
(B) udx Galll (fertilizer industry) “i Gu-Ugial ails Hasumi 204 9.
(C)  MBAl Brulaellai 2o Gusilon szl 204 9.
(D) o well swal vet sz daz SHdasls »umis 4ud 9.

Al 2dAl Eseqimisl Az sedler s 53
Options :
[
8643517397. ¥ (C)

¥ (B)
8643517398.
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£
8643517399. ¥ (D)

s5c (B) 244 (D)
8643517400.

Question Number : 36 Question Id : 8643512466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of conductivity of ions in water is :
Options :

8643517401, Cs* > Rb* >K* > Na®

~ s+ b B
g64351740. Na* >K* >Rb* > Cs

b a1 —~_ -+ ]
8643517403, &~ > Na® >Cs™ > Rb

8643517404, Rb™ >Na® >K* >Li"

Question Number : 36 Question Id : 8643512466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el 24l Alssairl 1l 54 20l

Options :

643517401, &5~ > Rb™ >K™ >Na
T F b ~_ 4

2643517400, Na© > KT >Rb™ >Cs

t ot b b
8643517403, K* > Na® >Cs™ > Rb

o F ot =T34
8643517404, NP~ >Na™ >K* >Li

Question Number : 37 Question Id : 8643512467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following compound CANNOT act as a Lewis base ?
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Options :

8643517405. 3

8643517406. B

8643517407. Al

5'—1
8643517408

Question Number : 37 Question Id : 8643512467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AL 2l s Hdior gy oide adls adil 4dl 7
Options :

CIF,
8643517405, -

8643517406. PCls

NF,
8643517407, -

8643517408.

Question Number : 38 Question Id : 8643512468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the spin-only magnetic moment value (BM) of a divalent metal ion with atomic
number 25, in it's aqueous solution ?

Options :

8643517409. 5.0

8643517410, 220

2
8643517411. o
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8643517412, “€T9

Question Number : 38 Question Id : 8643512468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
URHIG| 5415 25 L1l Balers Al 2] 2lA- 55 Ao AsHEL (BM) o Yed d-l seclld e
2LIEL,

Options :

5.0
8643517409.

5.26
8643517410.

8643517411. 5.92

8643517412. Lo

Question Number : 39 Question Id : 8643512469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Potassium permanganate on heating at 573 K forms potassium manganate.

Statement Il : Both potassium permanganate and potassium manganate are tetrahedral
and paramagnetic in nature.

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

8643517413, Poth statement I and statement II are false

8643517414 Both statement I and statement 11 are true

8643517415, Statement I is true but statement 11 is false

8643517416 Statement 1 is false but statement 11 is true

Question Number : 39 Question Id : 8643512469 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

12 o4 (el 2uia e,
[ 1: 573 K w2 W3 u2iBided 2124 s3dl di@ey WA oed 9.
(A 11 ;o 2R w3olAe 2 izRa Wle Anugrsasly 24 del ugld 2125l 9.
Gurl [BleuiAl deeiul, 12 2udan Esedmizl Wil 4y olaciudl seaiet s sl
Options :
8643517413, it EHEL T2 [ 1L 8.

Y ik = o 2 B
9643517414, ToL (e 1 24 (e 11 20l 9.

E ;. o 5 .y "o
S643517415, At 1 O ueL a1 ©.

CRTEN RUIPAS R CUTEN | RS
8643517416.

Question Number : 40 Question Id : 8643512470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reducing smog is a mixture of :
Options :

8643517417, Smoke, fog and O,

Smoke, fog and SO,
8643517418. o

8643517419 Smoke, fog and 1\12«["-'3

Smoke, fog and C I—I?_ =CH - CHQO
8643517420.

Question Number : 40 Question Id : 8643512470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(oot - 2l Al e o
Options :
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HISL, 4¥HY 2 O
8643517417, ks % 3

8643517418, K1 YHRLHASO,

HISl, 43HH 24 N,O
8643517419. % 4 il

YHISL, 4¥HYU 2 CH,=CH - CHO
8643517420,

Question Number : 41 Question Id : 8643512471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Retardation factor (R;) can be measured in meter/centimeter.
Statement 11 : R, value of a compound remains constant in all solvents.

Choose the most appropriate answer from the options given below :
Options :

8643517421 Both statement I and statement 11 are true

2643517422, Both statement I and statement Il are false

8643517423 Statement 1 is true but statement 11 is false

8643517424 Statement 1 is false but statement 11 is true

Question Number : 41 Question Id : 8643512471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
{120 o4 [Sendl 2uda © ¢
[ 1: [Retdeid 21944 (Retardation factor (Ry)) e /#A-clilensi widl usin 9,
(e 11 2lisrtdl R, 4o elddier sl 240 ¢ 9.
Al 2uia [Esedisial el gy olaciudl seae wag s
Options :
o [EAH1A T 24 Fan 1T 2 9.
8643517421.
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8643517422, it [ 1 24 [Fa 1T el 9.

8643517423, AT W S ueL [Hai 11 ML ©.

[ 1 uild & wel [4ae 11 1E ©.
8643517424

Question Number : 42 Question Id : 8643512472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the fnllnwing is an aromatlic cnmpound ?

Options : _
8643517425. :>
8643517426. :>®
8643517427. @@
8643517428. &

Question Number : 42 Question Id : 8643512472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

43/88



3/17/2021
Al 2dminl 53 215 2RHEs Bdller4 9 )

Options :

8643517425.

8643517426.

8643517427.

UDUO

8643517428.

Question Number : 43 Question Id : 8643512473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HISr

Ty

(Major Product)

Product “ A" in the above chemical reaction is :
Options :
Br

8643517429.

44/88



3/17/2021

pr CH,

CH,

Br
O% CH,
Hj
Br
CH,

Question Number : 43 Question Id : 8643512473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

8643517430.

8643517431.

8643517432.

Gyl 2wl Aluse “A” 24l
Options :

8643517429.

8643517430.

45/88



3/17/2021

Br

CH,
CH,
8643517431
Br
CH,
8643517432. S

Question Number : 44 Question Id : 8643512474 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 O7Na™

+ NaOH

k4

The above reaction requires which of the following reaction conditions ?
Options :

2

8643517433, 023 K, Cu, 300 atm

g643517434. 273 K, Cu, 300 atm

- |
3643517435, 023 K, 300 atm

R643517436. 072 K 300 atm

Question Number : 44 Question Id : 8643512474 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Cl O " Na™

+ MNaOH

Y

Guzdl wlanl, 2 2da wba wREAdE 58 o3dl o © 7
Options :
46/88
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8643517433, 023 K, Cu, 300 atm

8643517434, 2/ K, Cu, 300 atm

8643517435, 923 K, 300 atm

8643517436, 27> K, 300 atm

Question Number : 45 Question Id : 8643512475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mesityl oxide is a common name of :
Options :

/ r - iy
R643517437. 4-Methyl pent-3-en-2-one

AT : A
8643517438, < 4-Dimethyl pentan-3-one

2N e
8643517439, ~ Methyl cyclohexanone

643517440, - Methyl cyclohexane carbaldehyde

Question Number : 45 Question Id : 8643512475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ARdaziistds 2 Ala-Asisl »isd upi-d A 9 o AL
Options :
4-Fadd Uee-3-g4-2-2li4
8643517437.

LN 5
8643517438, 2 A-si[Hadd Ui -3-24in

2-[Faidd MsdidsAiA
8643517439. & @

5‘" PR P r i : S‘ri:l
8643517440, 3-[and d wiusdidsaid sieedles
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Question Number : 46 Question Id : 8643512476 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Hoffmann bromomide degradation of benzamide gives product A, which upon heating with

CHCl; and NaOH gives product B.

The structures of A and B are :

Options :

8643517441.

8643517442.

8643517443.

8643517444.

Question Number : 46 Question Id : 8643512476 Question Type : MCQ Option Shuffling : Yes Is

O
3 _NH,
Br
NH,

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

NH,

B — ¢/CI (@]

S HIES, €lsUA Alpuds BAseA sl lusy A 2l 8. o+l CHCL, 24 NaOH 2412 2133 53l

Aluey B 20 8. dl Yarel A 21 B

3L
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Options :

8643517441, Br Br
NH, NC
Nl e
8643517442,
NH, NH,
8643517443, r Br
NH, NH,
8643517444,

Question Number : 47 Question Id : 8643512477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O
. Ethylene Glycol
C'(_.zHrj ry L A
H (Major Product)

The product “A” in the above reaction is :

Options :
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OCoHs
8643517445.

OH

%

8643517446.

4

/ OCrHs

OH

8643517447.

O
e
'DCEI I5

8643517448.

Question Number : 47 Question Id : 8643512477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O O
r[‘ Ly r i
OC,Hs defledl JTL%‘M " A
H (3o flusy)
Gya-l B Aldse “A” 20l
Options :
O Q

el
OC7Hg

8643517445.
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8643517446.

OCoHg

\OI |

O
D><w\
OCHH

8643517447.

5

8643517448.

Question Number : 48 Question Id : 8643512478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction is an example of ammonolysis ?
Options :

9643517449, C{.]HECDCI I ‘C{.]HENI-I2 . 'C{.JI-IE‘C«DI‘\IH'C{.]I-I5

CH-CH,CN _Hl . C,H.CH,CH,NH
8643517450, © 520 T 7 Y6522

CH-CH,Cl+ NH, — C,H.CH,NH
8643517451, ¢ 2 2 3 s iR

Question Number : 48 Question Id : 8643512478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al 2udariEl 59 205 wlE 2-laiug Gase 9 7
Options :
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8643517449, CHCOCI+ C . HNH, — - C.HCONHC_H;

C.H-CH,CN _Hl , C.H.CH,CH,NH
8643517450, M s SR T TN T T

C.H.CH,Cl+NH, —_, C.H.CH,NH
8643517451, © ° 2 . B

CH.NH. HO  CH.NH:CI
8643517452, © 5 2 SRR S

Question Number : 49 Question Id : 8643512479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

With respect to drug-enzyme interaction, identify the wrong statement.
Options :

8643517453, Competitive inhibitor binds to the enzyme’s active site

8643517454 Allosteric inhibitor changes the enzyme’s active site

8643517455. Allosteric inhibitor competes with the enzyme’s active site

8643517456, Non-C ompetitive inhibitor binds to the allosteric site

Question Number : 49 Question Id : 8643512479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2AME-Gerdus wardls il dseii, wig B 2laml.
Options :
0643517453, Betsl Alsd 22 il 2uaicHs 2185 (Competitive inhibitor) st$t4 ©.

cca3s17ass UL (2t=42t) Bulzaell 2145145 (Allosteric inhibitor) Geausiql ulby 22U o154 9,

e6a3517455. CUEL (2t) Bruleuell 2askias Goatus s1dg (enzyme substrate) 218 244l 51 9.

o s iy = - 5 . s o= -
0643517456, UrimEHAICHS 2AARLES o AUsL (A7) Frulaellal 22 wEl ssim 9,
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Question Number : 50 Question Id : 8643512480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct structure of tyrosine ?

Options :
COOH
HaN *% OH
8643517457.
COOH
H,N H
OH
8643517458.
COOH
;N H
OH
8643517459.
COOH
H>N H
OH
8643517460.

Question Number : 50 Question Id : 8643512480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
PRl W efarel {lA 2l 54 9 7
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Options :

COOH

I 127\1 H OH

&

8643517457.
COOH
H>N H
OH
8643517458.
COOH
45N H
OH
8643517459.
COOH
H,N H
OH
8643517460.
Chemistry Section B
Section Id : 864351166
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes

Sub-Section Number : 1
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Sub-Section Id : 864351166
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643512481 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The mole fraction of a solute in a 100 molal aqueous solution is - x1072
(Round off to the Nearest Integer).
[Given : Atomic masses : H:1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643512481 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

100 Hidd syl gleeri gleundl Mid 2421 %1072 9. (A5l YelsHi AG~s »iig 531)

[2dd - wzHedl sl H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643512482 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The pressure exerted by a non-reactive gaseous mixture of 6.4 g of methane and 8.8 g of
carbon dioxide in a 10 L vessel at 27°C is ~ kPa.

(Round off to the Nearest Integer).

[Assume gases are ideal, R=8.314 | mol 3
Atomic masses : C: 120 u, H: 1.0 u, O: 16.0 u]
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 52 Question Id : 8643512482 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27°C 2 10 L Aol Wil 6.4 g (M8l 21 8.8 g s1ei stllsdonl Alrt-uls (s 4 24 de) dpfa
[iswel 48 g genet _kPa®.

(05l yeulsl UG- s 53)

[2ugel sy «dl dl, R=8.314 Jmol "1 K~

yzredly £l C: 120w, H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643512483 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A certain orbital has n=4 and m; = 3. The number of radial nodes in this orbital is

. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643512483 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2s (A sts n=424 m; = 3 U9 9. 2L 585Ul Feausla Aigudl v 9.
(A5l YellsHi UG-8 2415 531)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643512484 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The standard enthalpies of formation of Al,O, and CaO are — 1675 k] mol ! and
635 k] mol ~! respectively.

For the reaction

3Ca0 + 2A1 — 3Ca + Al,O, the standard reaction enthalpy A H"= k]J.

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643512484 Question Type : SA
Correct Marks : 4 Wrong Marks :

AL O, 24 CaO Al 3ilert s/t 2-iefl2Al 24453 1675 k] mol ! 24+ 635 kJ mol ! ©.

"

3Ca0 +2A1 — 3Ca + ALO, ML e, 3uled wbu 2-medl A HO= kJ. ©.

(A5l yellsHl UG- 2415 531)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643512485 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The oxygen dissolved in water exerts a partial pressure of 20 kPa in the vapour above water.
The molar solubility of oxygen in water is %1072 mol dm 2.

(Round off to the Nearest Integer).

[Given: Henry's law constant = K, =8.0 x10* kPa for O,.

Density of water with dissolved oxygen = 1.0 kg dm 3]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643512485 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

wellul 2iilsusr - gy sidi well Gur owrusi 20 kPa o 210215 oL dpy wd 8. welli 24 (susl

UL glerdi %1073 mol dm 3 ®,

(A5l YelsHi 2G-S 21is 531)

[2A04 : el (R 2nis = K =0, e 8.0x10* kPa
wellui 2o 2susr- w8 wellHl addl = 1.0 kg dm 3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643512486 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.01 moles of a weak acid HA (K,=2.0x10 %) is dissolved in 1.0 L of 0.1 M HCI solution.
The degree of dissociationof HAis ____ x10 5 (Round off to the Nearest Integer).
[Neglect volume change on adding HA.
Assume degree of dissociation <<1]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 8643512486 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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[qein 2448 HA (K, =2.0x10 %) i 0.01 i 0.1 M HCI i 1.0 L Al gloe14i 2RO 209 6,

HA Al [Exise4 »ia %1072 9. (A5l YelisHl UGS 25 531)
[HA A GHzdl $5AL 53512 2216141

ARl dl s (Sisr- 2ial <<1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643512487 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

15 mL of aqueous solution of Fe?* in acidic medium completely reacted with 20 mL of
0.03 M aqueous Crzf_};z-_. The molarity of the Fe?* solution is %10 "2 M. (Round

off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643512487 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

BRRs weasntl, Fe2* 4 15 mL vl 419401 0.03 M svelld Cr,0F il 20 mL #idl 2yl w2

9. Fe2* glae-l walzdl %1072 M 8. (A5l YoUsHL UG- 2lis 531)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 58 Question Id : 8643512488 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
For a certain first order reaction 32% of the reactant is left after 570 s. The rate constant of
this reactionis = x10"3s 1 (Round off to the Nearest Integer).
[Given : log,32=0.301, In10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643512488 Question Type : SA
Correct Marks : 4 Wrong Marks :

s [ABd uam 53 w0 w2 570 s Ul 32% ulsus ousl 2 9. di 20 uBa-l 420 2Aunis
%1073 5718, (A5l yelisul uB-s 25 531)

[#uld : log,,2=0.301, In10 = 2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643512489 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of white phosphorus on boiling with alkali in inert atmosphere resulted in the
formation of product “A’. The reaction of 1 mol of “A” with excess of AgNO, in aqueous

medium gives mol(s) of Ag. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643512489 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

Glsncl 1i% slasaudl [ARFY diazel 2uesdl il ub szl wReust sy ‘A7 o dsid (o) 2
9. 194 A «l Wi 98 ysdi AgNO; -l svedld wieasui ubd sadi Ag -l of Hid(H)
UM 21 D,

(A5 YoUEHL UG- »l15 531)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643512490 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,

HNO,
H,S0,

S
>

In the above reaction, 3.9 g of benzene on nitration gives 4.92 g of nitrobenzene. The
percentage yield of nitrobenzene in the above reaction is __ %. (Round off to the
Nearest Integer).

(Given atomic mass : C: 120 u, H: 1.0 u, O:16.0 u, N : 14.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643512490 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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NO,

HNO,

Guz-l Ul 3.9 g Alotee Adgaid sl 4.92 g Adglello4 2 8. Guzdl wsaHi Azl

Alwsy estdl % 5. (AwsHl yeusul AB-s s K1)

(e wzAedld gl 0 C:12.0u, H:1.0 w, O : 16.0 u, N : 14.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
Mathematics Section A

Section Id : 864351167
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351167
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643512491 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In a school, there are three types of games to be played. Some of the students play two types
of games, but none play all the three games. Which Venn diagrams can justify the above

statement ?

P Q R
Options :

8643517471, L and Q

8643517472, L and R

8643517473, 2 and R

8643517474, Lvore of these

Question Number : 61 Question Id : 8643512491 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AL 2L U5l T sl 20l 8. sedis [Baell=l A usil 3id 31 B, wid siduel A8l udl
Tl AL 59 A 2uglazil Gualsd s Fuld © )

Options :

8643517471, L 21 Q

8643517472, I # R
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8643517473. Q#E

g
8643517474. Al 518 Al

Question Number : 62 Question Id : 8643512492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The area of the triangle with vertices A(z), B(iz) and C(z +1z) is :

Options :

b | =

8643517475.

M| =

8643517476.

M| =

8643517477.

8643517478. .

Question Number : 62 Question Id : 8643512492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FRUCE A(z), B(iz) 21 C(z +iz) Aou Bisior sbsn 8.

Options :

1

—|z+ {22

2
8643517475.

S

'_} a
8643517476. <

1

2
8643517477.

8643517478, 1
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Question Number : 63 Question Id : 8643512493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: (0 s | ' sy 1Y y 4
If A=] . and do_t| A —I1 | =0, then a possible value of « is :
| Sinao 0) \ 7
Options :
L
8643517479, *
-
3
8643517480.
w
8643517481. ©
b
=
8643517482. =

Question Number : 63 Question Id : 8643512493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4 "0 sinee ) o ' g o T & . &
A A=| | wddet A2 - 1] =0, dadlusalbua 3.
| SN 0) \ X ]
Options :
s
4
8643517479.
.Tr
3
8643517480.
.‘TI'
b
8643517481.
.‘TI'
2
8643517482.
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Question Number : 64 Question Id : 8643512494 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The system of equations kx+y+z=1, x + ky+z=k and x +y +zk=k? has no solution if k is
equal to :
Options :
8643517483, ©

8643517484, 1

(=1

8643517485.

]

8643517486.

Question Number : 64 Question Id : 8643512494 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ot k=l dl el deld ke vyt z=1, x b kytz=k @ x by zk=k2 A Ga il
Options :
8643517483.

8643517484.

8643517485.

-2

8643517486.

Question Number : 65 Question Id : 8643512495 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Team ‘A’ consists of 7 boys and n girls and Team “B" has 4 boys and 6 girls. If a total of 52
single matches can be arranged between these two teams when a boy plays against a boy
and a girl plays against a girl, then n is equal to :

Options :

2
8643517487. =
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8643517488. :

8643517489. 5

8643517490. i

Question Number : 65 Question Id : 8643512495 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ZIH A L7 BlsRAl 2 n 9IRS d2L 21 B Ul 4 S5 2 6 SI5ERL 8. sk BisL 2 BisuHl
A 2 2 sl 2L olsl-l WA 3 R 2 eid 23 a2 54 52 sl 25 Wl H2d 2l 28 3,
dl n =

Options :

I3

8643517487.

8643517488.

8643517489.

8643517490.

Question Number : 66 Question Id : 8643512496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the fourth term in the expansion of (x xlogy M7 is 4480, then the value of x where x € N is
equal to :

Options :

8643517491.

]

8643517492.

8643517493.

8643517494.

67/88



3/17/2021

Question Number : 66 Question Id : 8643512496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

vy

ol (x+x1082 )7 Al [acel] 212 U 4480 €, dl x e N3 x - Y
Options :

8643517491, 1

8643517492.
8643517493.

8643517494.

Question Number : 67 Question Id : 8643512497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
The value of 4 ] is :
5 4 g
4 4 1
5 4
4+... *
Options :
: ]
o B )
8643517495, >
2+ 24 /30
8643517496, V3
2
5+ =30
8643517497. 3
44 i,q“ﬁ
8643517498. V5

Question Number : 67 Question Id : 8643512497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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' 1 . .
4 4 " HeY 0.
1 L T
5 4 :
4 4 1
5 4
41+ ... s
Options :
' 2
2+ V30
8643517495.
| g ..
2 4 T\"I 0
8643517496, 5
: )
5+ =30
8643517497 2
| .
4 + —-J30
J5
8643517498

Question Number : 68 Question Id : 8643512498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If cot~1(a)=cot=12+cot~18 +cot =118 + cot~132 +..... upto 100 terms, then « is :
Options :

8643517499, 1-00

8643517500, 101

8643517501, 1-02

8643517502, 1-03

Question Number : 68 Question Id : 8643512498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
sl cot™ Ha)=cot ~12+cot 18 +cot 18 +cot ~ 132+ ... 100 UEl Yl €M dl a =

Options :
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8643517499. Sl

8643517500, 101

2
8643517501. 1.02

8643517502, 1-03

Question Number : 69 Question Id : 8643512499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The inverse of i = 5logx jg .

Options :
1
]II!I T
- = 5108
8643517503,
1
x=y o5
8643517504. :
x="5"8Y
8643517505.
- Llr]t:nE;S
8643517506.

Question Number : 69 Question Id : 8643512499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y=5logrd cpq B,

Options :

1
x = 5%°8Y

8643517503.

1

X=y log5

8643517504.
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x = 5logy
8643517505.

R T
8643517506, X=Y ¢

Question Number : 70 Question Id : 8643512500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

- ._'1-_ _2' B -1 y 3
The value of lim <08 |x [x]") - sin |:_.l

1

b 3 2] J, where [x] denotes the greatest
3 .

integer = x is:

Options :
=
4

8643517507.

8643517508, U

SIER

8643517509.

e

8643517510.

Question Number : 70 Question Id : 8643512500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e U 8 v T I
o [x] B| Heéry W;LIQ[FLSJ = x gald, dl lim C€OS |x [x] ) - sin” (x

[x]*)
50" e 8.
x—0 x I.’S = .
Options :
L
4
8643517507.
8643517508.
s
2
8643517509.
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8643517510.

Question Number : 71 Question Id : 8643512501 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect for the function g(a) for « € R such that

sin“x

gla) = dx

| ey L

cos®x + sin®x
Options :

8643517511 g(a) is a strictly increasing function

8643517512 g(a) is a strictly decreasing function

1
g(a) has an inflection point at « = 2
8643517513.

g(a) is an even function
8643517514.

Question Number : 71 Question Id : 8643512501 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o o e R &l ol (G814 g(o) W2 Al [Beuql U8l s 2wl w4, sed

sin“x

gla) = dx

cos™x + sin®"x

A ey LA

Options :

(o) A dbd [Dey .
8643517511, S L

e61351 751, 8(®) %t g [Fa 6.

. ¥ ﬂ >
a=—— UH gla) - Yl IE{E 8.
8643517513. 2 S LS

72/88



3/17/2021

8643517514, B0 ¥ [GEly 5.

Question Number : 72 Question Id : 8643512502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is true for y(x) that satisfies the differential equation

d
§=xy 1+x—y;y(0)=0:
Options :

' 2 |

yil) = 2 -1
8643517515.

1

y(1) =e2 — 1
8643517516. )

' 1 3

yl)=e?2 —-e 2
8643517517. y()

8643517518, V(D=1

Question Number : 72 Question Id : 8643512502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i ; d : o s e
sd y(x) 21 (s wlsael f =xy — 1+ x —y; y(0) =0+ W 52, dl ARl 2 2= 8 7

Options :

' i |

pi]=e 2 =1
8643517515.

} 1

y(l) =e2 —1

8643517516. 4
1 -1

Yl —et —e 't
8643517517.

y(1l) =
8643517518. y(1)
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Question Number : 73 Question Id : 8643512503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a triangle POR, the co-ordinates of the points PP and Q are ( — 2, 4) and (4, —2) respectively.
If the equation of the perpendicular bisector of PR is 2x —y+2 =0, then the centre of the
circumcircle of the APOR is :

Options :

8643517519. (I, 4)

”
8643517520. 0. 2)

(=1, 0)
8643517521,

(—2

D

8643517522.

Question Number : 73 Question Id : 8643512503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[Estel POR 4l gl P2l Q Al 4 21959 (—2,4) 24 (4, —2) 8. o PR Al det e w3dlswel

2x—y+2=0¢M, dl APQRAl Wy adn ¢ 8.
Options :
8643517519, (1 %)

0, 2)
8643517520.

(=1 0)
8643517521.

7.
8643517522. =5

Question Number : 74 Question Id : 8643512504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The line 2x —y+1=0 is a tangent to the circle at the point (2, 5) and the centre of the circle

lies on x — 2y=4. Then, the radius of the circle is :
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Options :

8643517523. 53

8643517524, V4

8643517525, 45

BN
8643517526. 345

Question Number : 74 Question Id : 8643512504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L 2r -y +1=0% (2,5) (G5 W adoddl 292ls © dz dqoed g x - 2y =442 2044 8. dl adul
Boen &

Options :

8643517523, V3

8643517524. 5V4

o

8643517525.

8643517526. 35

Question Number : 75 Question Id : 8643512505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about the two circles whose equations are given below :
x2+y?-10x — 10y +41=0 and

x2+y?—16x 10y +80=0

Options :

2643517577, Circles have two intersection points.

8643517508, Both circles pass through the centre of each other.
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8643517529 Both circles’ centres lie inside region of one another.

Distance between two centres is the average of radii of both the circles.
8643517530.

Question Number : 75 Question Id : 8643512505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al2d 2t w{lsrell o A adal W2 vy [Sen wE 1L
x2+ 12— 10x — 10y +41=0 244
x2+y?—16x— 10y + 80=0.
Options :
2643517527 aduiiAl o B gl &.

8643517508, 7t AUl ws-olleanl seguiall waz WA ©.

i el s — T . ..
8643517500 it SuliAl g 2is-clloal ugrill 2R 2094 ©.

8643517530, it 5l 422 iR 2 oit adul-l Bleaunl wri oved ©.

Question Number : 76 Question Id : 8643512506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of the plane which contains the y-axis and passes through the point (1, 2, 3)
1S :
Options :

8643517531, X 1+z=6

8643517532, ¥ +3z=10

8643517533, ¥ +3z=0

8643517534, %
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Question Number : 76 Question Id : 8643512506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

v

y-o A L a2 (G (1, 2, 3) Mgl W Adl Widad wdlsel
Options :

8643517531, X tz=6

r+3
8643517532.

8643517533.

3x
8643517534.

Question Number : 77 Question Id : 8643512507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the Boolean expression (p = q) < (q * (~p)) is a tautology, then the Boolean expression
p * (~q) is equivalent to :

Options :

)

'
8643517535.

iy i
8643517536. P 1

sl

— P
8643517537.

8643517538, 1 P

Question Number : 77 Question Id : 8643512507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

od odla ldeulsa (p = q) & (q * (~p)) ¥ ey ¢y, dl gy =ldeulsa
pr(~q) @ Al s
Options :

—
8643517535. .
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8643517536, £ 1

8643517537. 17 P

8643517538, 1P

Question Number : 78 Question Id : 8643512508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a =2i —3j +4kand b =7i + j — 6k.

—

% b, ? . l; |2}" | ;( = -3, then r - 2; 3; + k)is equal to :

—— — ———
I

fr xXa=
Options :

8643517539.

8643517540. 10

8643517541. ~~

8643517542, 19

Question Number : 78 Question Id : 8643512508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—

4RlY a =27 3] +4k @A b =7i + j - 6k.

xb, r-|\i+2j+kl=-38,Q r-|2i-3j+k =
Options :

8643517539.

8643517540.

12
8643517541.
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8643517542, 13

Question Number : 79 Question Id : 8643512509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two dices are rolled. If both dices have six faces numbered 1, 2, 3, 5, ¥ and 11, then the

probability that the sum of the numbers on the top faces is less than or equal to 8 is :

Options :

8643517543.

8643517544.

8643517545, 36

8643517546.

Question Number : 79 Question Id : 8643512509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ol YAl S5l 20 8. s oA Wl & clsr2ll w2 1,2,3,5, 7 a2 11 2iBd ¢, dl w2l
olley redl 2islAl el 8 5 el At dlenell deust B,

Options :

—
=]

8643517543.

xs:|.4‘--'

8643517544
17

8643517545.
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b |

8643517546.

Question Number : 80 Question Id : 8643512510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

> \| = tan 1{%1 is :
\31)

f
The sum of possible values of x for tan Lx + 1) + cot ll 3
i I /'

Options :

8643517547. 4

8643517548. %

31

4
8643517549.

30
8643517550.

Question Number : 80 Question Id : 8643512510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1 ) . " g o 5

tan"!(x + 1) + cot ' | = tan" 1| — | sieell x Al usi BudlAl Wl e.
Options :

33

4
8643517547.

32

4
8643517548.

31
8643517549.
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30

8643517550.
Mathematics Section B

Section Id : 864351168
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351168
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643512511 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The maximum value of z in the following equation z=6xy +y%, where 3x+4y = 100 and
4x+3y = 75 forx = 0andy = 0is __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643512511 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x =024y =0 HR oAk 3x+4y = 10024 dx+3y = 75 €, AR Wllszol z=6ay+12 H z 4
HedH Yt B,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :
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100

Question Number : 82 Question Id : 8643512512 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-

> 8 - ,_
If A= [ 1], then the value of det(A*) + det{ A0 (Adj(2A))"°) is equal to _

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643512512 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. | I ,_
A= [“ 1] e, b det(A?) + det( A1 (Adj(24))"°) =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643512513 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If (2021)%2 is divided by 17, then the remainder is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643512513 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A
A

(20213762 4 17 5 &Il AN WA B,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643512514 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cos(sinx) — cosx

If the function f(x)= .
X

is continuous at each point in its domain and

f(0)= i, thenkis
k

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643512514 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cos(sinx) — cosx

.1’4

od (G814 f(x) =

At 32l uels Cigell Wl uad 1 @9 £(0) = éé‘m, il

k =
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643512515 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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If [ - | represents the greatest integer function, then the value of

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643512515 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o [ - ] ety yells [ax sl ol

VE

_[ [[IE] cn:—u} dx| =

L)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 86 Question Id : 8643512516 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum distance between any two points P, and P, while considering point P, on one

circle and point P, on the other circle for the given circles’ equations
2 +y?2-=10x— 10y +41=0
x2+ % —24x—10y + 160=0 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 86 Question Id : 8643512516 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2NE Aol 22+ 32 - 100 — 10y +41=0 24l 22 +32 - 24x— 10y +160=0 4 (45 P, - 25 adn
w2 dl (645 P, A oflsa ado uz Aol (G520 Py 2 Py 2ol ™ 2z . qa .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643512517 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the equation of the plane passing through the line of intersection of the planes
2x—7y+4z—-3=0, 3x—5y+4z+11=0 and the point (-2, 1, 3) is ax + by+cz—7=0, then
the value of 2Za+b+c—7 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643512517 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ol UHAAL 2x — 7y +4z ~3=0 2 3x — Sy +4z+ 11=0 «l 9% 2 a (6 (-2, 1, 3) wigdl v
udl Wddd w28l ax +by+cz—7=0 €, dl 2atb+c-7 43y 9,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 88 Question Id : 8643512518 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let there be three independent events E,, E, and E,. The probability that only E; occurs is «,
only E, occurs is 5 and only E; occurs is y. Let “p” denote the probability of none of events
occurs that satisfies the equations (a— 2p)p=af and (p —3y)p=2py. All the given
probabilities are assumed to lie in the interval (0, 1).

Pr obability of occurrence of E;

Then, is equal to

Probability of occurrence of Eq

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643512518 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

QRLS E, E, 24 By 2101 Halst deArl ©. 55 B, dzall-ll dedel o, $5d B, @zl Aol p a2 $s5d
E, secll-ll deusl v 8. 20{s30U (o~ 28)p=af 2 (B~ 3y)p=2py - W 52l siduel ue-t 4
tle del dioiedl 4Rl S ' gl 8. 2 381 ozl 2idud (0, 1) 4 2udel i, 4l

5 B sz el Heud-l
" Ej gzdil deud-i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643512519 Question Type : SA
Correct Marks : 4 Wrong Marks :

: 1 |
If f(x)= am{coﬁ { ﬂ and its first derivative with respect to x is EllnvgE 2 when
a
oy

x=1, where a and b are integers, then the minimum value of az—b?| is
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 89 Question Id : 8643512519 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Py Thae ™y Y .
~ : q[1-2¢ ~ A 2 \ NN -
sl f(x) = 5111{c05 . o Gl 2 x =1 €M o x-UME d MUH [4s(aq Elf}gF 2SI,
\ 14 /) s
scdla 2 b yolsl ©, dl a2 - b2 d Hyrdu e 9,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643512520 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

¥ oa—ai4 [5; I H.Ik.r

b = [5.5‘ [‘.‘i._;l; L and

such that a - b =1 and b - ¢

= —3, then ;({ﬂ " b.l . o) isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 90 Question Id : 8643512520 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e

Wa—ai-d [:‘:;;r'. I "”1

-

b=-pi —aj — k 2

Eoas 2; € A

—3 3 i 5 -\_.1'-_> . TR
a-b=1Mp-c=-54|2: 3.3~
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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